= AH O
N = 0 &8 AF S & Al A
2011E T 20Aa LEHgIH St F-C ~ SHFS-E
2M: SHLCY
HH: sMHE FX
S sMH8E FA (e
- _ _ bSRE Y=
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & Oﬁﬁou BlusSZ
SE = 21,417,013 17,596,630 3,820,383
= 1,611,100
z 1,092,000
p) 18,000
= 748,083
= 17,947,830
=MHE FA 1,867,450 2,359, 100 AN491,650
= 300,000
z 600,000
iy 967,450
SMHE EX 1,867,450 2,359,100 A491,650
= 300,000
2 600,000
= 967,450
=MAY 29 155,050 8,100 146,950
201 LBt AH| 5,050 8,100 3,050
01 AFR22(H] 5,050 8,100 A3,050
Ogdet4gH] 5,050
—SAMAE FREDA QLA
1,500,000 »23] 3,000
—ANREE P 50,000& 105 500
—=sMHE =R S0
50,0002 * 100 A 500
— 2 &I 7,000& *3H *503] 1,050
207 S RINH| 50,000 0 50,000
01 ¢3E4H| 50,000 0 50,000
OSFBIAIAE(1S014001) AR EHA 50,000
401 AlEHIZE20HI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OEHLZ HIIJE HoIAZ ZA(1HA) 100,000
SMAE 2R3 29 12,400 14,000 A 1,600
201 Lt AH| 7,600 9,200 21,600
01 AF222(H] 5,600 7,400 21,800
OsMEE A3 292+
70,0002 x20H *43] 5,600
03 AR 2,000 1,800 200
O=MEF &AL F& 1,000,000& *23| 2,000
301 Yt A2 4,800 4,800 0
10 SALAIHI B A2 4,800 4,800 0
O3lo &AL 20,0002 x202 x123] 4,800
MMHOIHE X4 1,100,000 0 1,100,000
= 600,000
= 500,000




SN BASC
HE: =MNT =T
Sl =MAT =T (=EREE))
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
401 AlZBIL 20| 1,100,000 0 1,100,000
z 600,000
= 500,000
01 Al&H| 1,096,258 0 1,096,258
OMMeE TH(EHZAY) 996,258
= 597,755
i 398,503
OS&Hs6t+ cHtE2(2=d) AZ(L=1km) 100,000
03 Al&=ChEl 3,742 0 3,742
OMMME ZH(HEAY) 3,742
= 2,245
= 1,497
=ot=a2d &4 600,000 0 600,000
= 300,000
= 300,000
401 A EHIL 204 600,000 0 600,000
= 300,000
i 300,000
01 Al&HI 597,750 0 597,750
OZA=X HWERD =42 ZH(101L) 597,750
=2 298,875
= 298,875
03 AIZ 204l 2,250 0 2,250
OSA=X WESD =M2 x4 2,250
= 1,125
= 1,125
BEEA =4 550,450 1,159,664 A609,214
= 182,000
Il 18,000
= 1,000
= 349,450
BAIH 2 401,800 1,096,000 694,200
= 167,000
= 234,800
HI=ZFY 29 12,800 5,000 7,800
201 Let2d| 12,800 5,000 7,800
02 323l 12,800 5,000 7,800
02222 ¥ WAl 12,800
—otd=EHA 200,000& 268 = 5,200
—ofl 2= HA 300, 000& * 1274 2 3,600
—ELQH AL 400,0002 #1074 2 4,000
EREEEET - E I 35,000 35,000 0
308 NXEHHSOIH 35,000 35,000 0
05 XX 223 35,000 35,000 0




M SASED}
M S3EEAN 24
CHol: BEFM A (cHol @@
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
ogrztzasdggols N 35,000
Jl=Hs ths XN& 10,000 15,000 25,000
201 LetEIH| 10,000 15,000 25,000
01 AtR22/Hl 4,000 12,000 28,000
OHAEQERN EE= MZE  2,000&+1,00004 2,000
OSMAMSE JPACHE 4HSEE M=
2,000& +1,0000H 2,000
02 =234l 2,000 2,000 0
omrIsgad R+ 2,000
03 A2 ZHI 4,000 1,000 3,000
O=24JtA =017 Zmel &K
2,000, 000& *23] 4,000
BHAEQIERN QIMEE K& 30,000 5,000 25,000
= 10,000
i 20,000
301 EtE4 = 30,000 5,000 25,000
= 10,000
= 20,000
12 JIEtEA S 30,000 5,000 25,000
OBAZQIERN QHEE X& 30,000
= 10,000
= 20,000
Jdeleld gsX# 14,000 12,000 2,000
= 7,000
i 7,000
201 LBt A 14,000 7,030 6,970
= 7,000
= 7,000
01 AtS 22l 7,000 7,030 A30
Oddeld sk AtR2teltl 7,000
= 3,500
= 3,500
03 A2 EHI 7,000 0 7,000
OdA2EHI 7,000
= 3,500
i 3,500
JIE =0l &XX&H 100,000 100,000 0
= 50,000
= 50,000
405 KHoHESHI 100,000 100,000 0
= 50,000
= 50,000
01 T =S H SHI 100,000 100,000 0
OJI==0IH =01217 #& 20,000,000 *5CH 100,000
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S Tt
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[
2

20
B
2

2000002 * 1204 A 2,400
ODNeIA L ZHY 7 1,080
206 T2 HI 5,000 0 5,000
01 MaHl 5,000 0 5,000
OENZEH 72 5,000
ST HEIIA el 16,580 3,100 13,480
201 Ler2oy| 1,500 1,500 0
02 ZTZ=H| 1,500 1,500 0
OS=IIH BEHA 750, 0002 *23] 1,500
206 W24 2,080 1,600 480
01 M 2,080 1,600 480
OBA=H)| 22 7 20,0002 *135 83 2,080
405 Xtk S| 13,000 0 13,000
01 AU ESEFSH| 13,000 0 13,000
ORSX HASZIN(ZEDA) 2 (10H) 10,000
ORISR SHAIE 2 (10TH) 3,000
HIRSK 7Y 50,000 0 50,000
= 15,000
= 35,000
405 & S| 50,000 0 50,000
= 15,000
2 35,000
01 AL SEF Sy 50,000 0 50,000
OIS 7 (10H) 50,000
= 15,000
2 35,000
AZEIIE 22 2,038 2,038 0
201 Ler2y| 2,038 2,038 0
02 B2 2,038 2,038 0
OUE0ISAIE BIIE EH442
203,8002 * 1074 A 2,038
=Pk 6,900 8,770 A 1,870
201 Ler2y| 4,900 6,850 A 1,950
01 AlR2telt 3,000 5,000 A2,000
OLBHEEHI(AS 83 #A NU)
50,0002 *107H 4 *63] 3,000
02 ZZ=| 1,900 1,850 50
ool 24| 1,400
—sA0SAEHA 800
—SO0ZHDIS 600
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SN BELED
HH: BATA F4
el BeY TT e

SA - M. CHY (B HEAY . N2 A} OH HEE =}
SH M HA(FA) - HRAE - S = &= O] AFOH S5
OHJIZ S Heltl 3,000,000& 33| 9,000
BZE A A 11,750 14,250 A 2,500
201 LEH2HH| 1,050 1,050 0
01 AtR22/Hl 1,050 1,050 0
O=gHl(gxad) 7,000 150 1,050
206 M=l 2,500 5,000 A 2,500
01 M= bl 2,500 5,000 22,500
Oz YHIY L 25 7Y
500, 000& 56& 2,500
302 Ol THHE &S 8,200 8,200 0
02 CIZHoITHoH 2 & =2 8,200 8,200 0
OS gt (Mol & SRS
7,000 300 *23l 4,200
OXaoitg & S2HHL sFEHE 2=4
200,000& x10&+22] 4,000
SEAH=0 X 20,000 0 20,000
p) 18,000
= 1,000
= 1,000
301 EtEA = 20,000 0 20,000
Il 18,000
& 1,000
i 1,000
01 A2IEEE 063 20,000 0 20,000
OHAY Il FH=0 2a= 20,000
Il 18,000
< 1,000
i 1,000
osd 25 508,343 459,594 48,749
= 31,100
< 29,950
= 447,293
Ordis - A2 2tel 90,023 100,414 A 10,391
= 11,100
= 29,950
= 48,973
Ord=SIlol oflg 18,200 32,000 A 13,800
= 9,100
& 4,550
= 4,550
402 2I2H X201 18,200 32,000 A 13,800
= 9,100
& 4,550
i 4,550
01 222 EX 18,200 32,000 A 13,800
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2L A
Mz XA E
Ok4

ok

N B e2(3H) - HRAY - BES Lo e DS
Ogt=2H| 1,000
= 500
o 500
o=l 500,000& 6 3,000
= 1,500
= 1,500
O=gHl 3,000
= 1,500
= 1,500
ogxs 3,000
= 1,500
= 1,500
401 Al HI LS HHI 20,000 0 20,000
= 10,000
o 10,000
01 Al£Hl 20,000 0 20,000
e SAMES EXAY 20,000
< 10,000
o 10,000
LIBIMEi S 22 - 2 125,280 174,180 48,900
LIHIdEH =2 2tel 88,280 85,680 2,600
201 Y2y 83,280 85,680 2,600
01 At 22lt] 10,300 7,300 3,000
Ot 10,300
—cI2% M 500& *10,000% 5,000
—3SEY HIS 78 100,000& 155 1,500
— /=4 200,000& x4 *12] 800
—2Ed M 50& 60, 0000H 3,000
02 33234l 77,980 78,380 A 400
O332= ¥ HAl 28,100
—MIIReR3 1,400,000& 122 16,800
—&J1otM 2tel 200,000& =12 2,400
— YT HA 800
— 22 g3l 50,000& 22 100
—&3e=s 50,000& =122 600
—SI3NEEE=S 700,000& »23 1,400
—2=XcelAlE 22/l 500,000& »12& 6,000
ORoadl 2eldl 220,000& »12& 2,640
(@)eiR=d] 35,000
OAlI4 EHIRXIH 600,000& *123| 7,200
OXtgfd el 420,000 *123] 5,040
LIBIMEH B R Ald e 37,000 78,500 A 41,500
206 M= dl 17,000 28,500 A 11,500




HEd B
LI MEf S& 2el - 2 (et =3
(=] ol (= (=] 1E- I|_-|LI;=|_||:_ =
M- F2 SR (3) - HIRAY - B e arey e {imE=Eh
01 M=l 17,000 28,500 A 11,500
OUHIAIE M2+ 1,500
o= #¢ 1,500
OUHIE & HEME Mg 24 2,000
gdl, 8l s #< 12,000
207 A 1OH | 10,000 0 10,000
01 2+1E3HI 10,000 0 10,000
OUHIMEI SEAIE Ed HE HE EY 10,000
401 Al&HI LR OHYI 10,000 50,000 240,000
01 Al&HI 10,000 50,000 240,000
OLIHI e E & A 5,000
OLtH[ M ER 2 2HEH I & 5,000
Aced 2&ac 16,150 18,750 A2,600
AHsd 28a2e] 2,250 6,850 A4,600
201 et 250 4,250 A4,000
01 AtR2teld] 250 4,250 24,000
OARE IAXR= =35 HH
252 %10, 0000H 250
301 et as 2,000 2,600 A600
10 SAHAHIEA S 2,000 2,600 A600
OXNgES 83 & WS 200,000 *107H & 2,000
MIEHEEZ IR 13,900 11,900 2,000
307 2120l & 13,900 11,900 2,000
03 MaIEHMEX= 13,900 11,900 2,000
O Esdaizgodal N 7,500
OgoflatZdEL X 6,400
S 24 - 23 276,890 166,250 110,640
= 20,000
s 256,890
SSetEa 2el 134,850 158,750 A 23,900
201 LEH2HH| 41,550 66,450 A24,900
01 AtR22iHl 15,700 41,950 A 26,250
Ogt=2H| 15,700
—3SE4Y HIES 2L
40,000& *10=2] x254 A 10,000
—SEHEY B =H 100,000& 3270 & 3,200
—SEStEA MR L oL E FHI
100,000& *257H A 2,500
02 2323l 25,850 24,500 1,350
OZ232= ¥ HMAl 22,100




SN BALED
HzH: THEtE 25
o9 BESHTA X4 - 2Y (el a2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- T - = S = o = 0:”/&,% Wsa
—Z2EZSEA M3 1,200,000& x123| 14,400
—Z2ESSIHA A -Gl AIERS
600,000& x123| 7,200
—==3H&4A &3] 500
OZ2ZIEA AlAE 2 HI S22
150, 000 *25JH A 3,750
301 et A= 500 500 0
10 EAIAHIEAZ 500 500 0
OBEsTA BeIADS BHBY
50,000& x10H 500
307 QIz2tol & 82,800 81,800 1,000
05 QI2tAEZ 82,800 81,800 1,000
OZ2=3H& 4l oIt ezt 82,800
—SSSH&EA DIZ2ER &
200,000 *320H A« 1200 & 76,800
—A&)] dz2 300, 000& 104 A x2JH & 6,000
401 AlEHIZLE0HY] 10,000 10,000 0
01 Al&H]| 10,000 10,000 0
Eol S & S EA A 10,000
SSSH&EA AX] 102,040 7,500 94 /540
401 AlEHIZLE0HH] 100,540 0 100,540
01 Al&H| 100,000 0 100,000
OB=3H&A M= 100,000
03 AlZ=20HH] 540 0 540
OZ2Z3EA MIFSZAF 20| 540
405 XHAHE S HI 1,500 7,500 26,000
01 AR EEFFSHI 1,500 7,500 A6,000
Odl=s DI 300, 000& =54 1,500
SSSEA S EU AL 40,000 0 40,000
=2 20,000
o 20,000
401 AlEHIZLE0HH] 40,000 0 40,000
2 20,000
o 20,000
01 Al&H| 40,000 0 40,000
OZ=Z3H&A SEUAL 40,000
2 20,000
o 20,000
Hol=2 AN 5,358,861 2,301,248 3,057,613
=2 1,098,000
= 682,333
o 3,578,528




SN BELED
M HolE AHEsE
ol Ha dF (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
S AL 701,481 553,488 147,993
= 250,000
= 17,000
= 434,481
HOI2 HMel X& 250,038 122,188 127,850
201 LetEI| 33,200 35,250 A 2,050
01 AtR22/Hl 33,200 35,250 A2,050
Oget=gH| 9,130
—UUHEE BMFErE 40,0002 =104 400
— M0 HiE CHLHE 100,000 * 1090 & 1,000
—CCTV M&EOHH —& 300
—HIIMME 22AMel =2
5,000& *400CH 2,000
=MD EHEI EXNAHE L2tE
150, 000& *5J4 2 750
—CCTVEs 82 et e 100,000 4 £ 400
—XNZHIIS e He 1,500
~TRH HMARE 7Y
250,000 »3CH*23] 1,500
—OH&E ZH| 1,280
SXOLAT 3,000& 1004 300
UESENY)] 30,0003 »26 4 780
= 4,000 504 200
o=l 8,710
— & 5t 50, 000& x26H »23| 2,600
- 23 30,0003 x26F *23| 1,560
—&g= 50,0003 x26H »23| 2,600
—YEt2 40,0003 x26% 1,040
— ot R9] 25,0003 x26% 650
— &35t 10,0003 264 260
o=l 7,000 «16H +302! 3,360
odxt= 12,000
—HHlY E=+H&H dx  300,000& 5 1,500
—t=22 &8 HHE =5 X
35% %300, 000kg 10,500
206 M=l 67,838 61,938 5,900
01 M=H| 67,838 61,938 5,900
OoMdiIISE MA 45,438
—54 25&*20,00004 500
—104 37&*80,0000H4 2,960
—204 622 «180,0000H 11,160
—50¢ 137& 180, 00004 24,660

—100 ¢ 2563 *8,0000H 2,048




SN BELED
mu: HIE KNS
ol Ha dF (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—33& MADISE M 137& %30, 0000H 4,110
OFaztd =23 Y 250,000& *123| 3,000
OULHZEH A= ME 2
5,000& 5024 23] 500
ONEE Zeldg B2E 0HH(40k8 &)
403 +10, 00004 400
ONeE Zeldg 222 0t (500ke &)
5,000& *6000H 3,000
ONgEdl+ HM&EE Jrdalt 2
35,000& » 1002 3,500
OMegEss =) Hd= +& 50,0002 «404 2,000
onMg=ss =2l a8l 300,000& *5H 1,500
O =g 7¢ 500,000 10K 5,000
OSAEF HII=E 8g=HE)| 7Y
50, 000& *50H 2,500
O=0tl 7 2,000% *500H 1,000
207 AN 30,000 0 30,000
01 g2 ESH] 30,000 0 30,000
OHJIZ HE HMZZAl 78 ES 30,000
401 Al&HIZL=ROHYI 119,000 10,000 109,000
01 Al&H| 119,000 10,000 109,000
OMdD| BHEXIE "Clean Zone" &XI 10,000
SASF HII=S 2 Alg £X 100,000
—OlIFE X (200A1CH) 29,000, 000& +2CH 58,000
—0t2 == (100AITH) 42,000,000 »1CH 42,000
OZAIZtoier £ X 3,000, 000& *3H 9,000
Masgs =8 & iS4 24 31,800 43,800 A 12,000
301 YptsEaag 31,800 43,800 A 12,000
12 JIEtE2 4= 31,800 43,800 A 12,000
ONEES =8%d=s % A= 31,000
—HeEg2s =Edd=s
20,000,000 »25| 50/ 100 20,000
— 248 Hess 243 50&*200,000kg 10,000
—MHEE23 =& 0= A= 1,000
ONNEAS3 800
—13|23 AEAM RALAIHE ADNE4
40,000& 102/ 400
—HJIE SYSFI ¥ A28 B4
40,000& 102/ 400
HEY =HA24 52,500 52,500 0
= 12,000
= 40,500
301 YptsBaazg 52,500 52,500 0
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< 12,000
2 40,500
12 JIEB A3 52,500 52,500 0
OHbIE 4224 35%11,500, 000k 52,500
= 12,000
2 40,500
Sorplg A AR 10,000 35,000 25,000
= 5,000
2 5,000
206 T2 10,000 35,000 25,000
= 5,000
2 5,000
01 MEHl 10,000 35,000 25,000
Os oy 438 &x 500, 0002 +20H A 10,000
= 5,000
2 5,000
ota 2 stRMIl Fat 357,143 300,000 57,143
=2 250,000
2 107, 143
101 o121t 32,143 66,030 133,887
= 22,500
2 9,643
04 JIAHIZRNSE S 32,143 66,030 133,887
OBt RRY 2RMAI| £HH o2 32,143
= 22,500
2 9,643
201 Y2 Y| 75,000 53,970 21,030
= 52,500
2 22,500
01 AFR22lH] 75,000 53,970 21,030
OBtRRY FRMYI| XY At 70,000
= 49,000
2 21,000
OBtTRY MY 2)HEE 2 5,000
= 3,500
2 1,500
401 AlEHIL LT 250,000 0 250,000
= 175,000
2 75,000
01 Al 250,000 0 250,000
OBtRRY My Il ?I=xel(800E) 250,000
=2 175,000
2 75,000
HOIZ HelAld 29 4,657,380 1,747,760 2,909,620
= 848,000
= 665,333
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201 et d| 196, 180 168, 160 28,020
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—olx=E Xl EFAE I3 20,000
OAl & &H| S Xl HI 16,200
—Hgd HA=2=AX 1,000, 000& *3H A~ 3,000
—MHEssdEE FX 1,000
—&&E2 MH2AIE |X 3,000
—3Al2 M2AlE |X 5,000
—Ho|l228 MAFHI KA 2
100,000& 12& 1,200
—MBTAIE KX 3,000
206 T2l 6,000 5,300 700
01 THEHl 6,000 5,300 700
Ol & gd9tE 2 500,000& x65 3,000
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= 565,333
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= 565,251
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SN BPECD
BE: MLT 22
SHol: DIEFAGAlE T2l CERE)
SH-EH . S2(30) - MRAY - BES O] &b o4 e HRE2
i 2,603
202 O4Hl 1,600 0 1,600
01 =0Tl 1,600 0 1,600
OXlot= HEXA 0 20,000 80 1,600
401 Al&HI LSO 16,800 10,000 6,800
01 Al&H| 16,800 10,000 6,800
OgXs o=+ 1,680,000& 105 16,800
sHE IS4+t A= 90,000 164,000 AT74,000
= 27,000
= 63,000
402 QIR0 H 90,000 164,000 AT4,000
= 27,000
= 63,000
02 SIZ2+CHEHAHH I 90,000 164,000 AT74,000
OltsaE szl 90,000
& 27,000
i 63,000
AR AL 22 91,195 95,501 A4,306
201 YBr2 Y] 86,695 91,001 74,306
01 AtSR22/Hl 86,695 91,001 A4,306
OZ223 % A 86,695
—H=2(14HES) 56,5203 *33| * 1551 & 26,282
== (HES) 283,920 *13] x155JH & 44,008
—AL(ERS) SAHREFD)
75,8002 * 15004 2 11,370
—AL(ERS) 2AHED)
30,7003 *82JH 2= %23 5,035
206 =4l 4,500 4,500 0
01 M=l 4,500 4,500 0
OY+AB(2222I) 4,500
H==E=3t & 2Afx=E 2 13,000 17,500 A4,500
201 et 11,000 11,500 A500
02 2523l 11,000 11,500 A500
OAN&EEHIS XY 11,000
—2%=H ®mA2c 500, 000& *2JH 2~ 1,000
- dix=E=3AE g2 10,000
307 212t01& 2,000 6,000 24,000
02 2ItAASE X 2,000 6,000 24,000
Osil+g+sA4 &#II1R3 2,000
ot=& 2Ztel 32,500 32,500 0
FaXeld 24 32,500 32,500 0
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M o4 E 22l
ol SPLHE 2 (25l &2
SA-BH.C(BH) - HRAY - B 0ff &+ o4 gg;ﬁ; Rz
SLa442 AU 1,500 1,500 0
402 RIAX 20| 1,500 1,500 0
02 DIZFHE A b 1,500 1,500 0
OB+UE 442 15,000, 00021 *10% 1,500
SLHE 29 31,000 31,000 0
201 Yer2 Yyl 31,000 31,000 0
02 BB 31,000 31,000 0
03222 2 HA 29,400
—2LHel® ®IQS  2,300,0002 128 27,600
—RLHAE MIIQENHE
150,000 %122 1,800
OA&ZHI R bl 400,0002 *43| 1,600
HZS YA (BFLC D) 1,276,668 1,292,987 ~16,319
ol 2| 1,169,808 1,186,502 £16,694
EEEIOVEE 1,169,808 1,186,502 £16,694
101 121l 1,169,808 1,186,502 £16,694
03 RINHA22XE 4 1,169,808 1,186,502 16,694
0123 1,151, 790226 « 128 359,359
o402 251,353
—Jlzay 1,757, 7002 x26 % *43] 50% 91,401
-334g 1,757, 7002 x26 % x23] *50% 45,701
— M 1,757, 700! %262 ¥53| %50% 114,251
OFosg 84,240
—Jtmay 80,0002 262 * 128 24,960
—s4geag 120,000 %262 122 37,440
— X4 70,0002 x26 2 « 122 21,840
SYIELTIEESS=" 9,612
=) 267,000 9% 43| 9,612
OzB224Y 275,444
— ARSI 2R4Y
12,0002 262 +30A| 2++12 112,320
—5324+y 93,0008 %262 ¥4 * 122 116,064
—HXRBEINY 90, 50021 26 x202 47,060
O=elsM 187,200
—oug Al 160,000 *262 122 49,920
— Ot 2 ) 110,000 *262 122 34,320
—DEZY| 140, 0002 %262 122 43,680
— Y EEIH 1,900, 000! %262 x23| *60% 59,280
OOiHI (HTX 28t 100,0002! 26 2,600
=23 106,860 106,485 375




SH: BALZD
B #YLAAL(SPLTD)
eel: = CCRE!
_ _ HE T
SA-E . S(E) - MEAY - BES 01l &4 24 i HIRE
Jl23d(=sMLEE) 46,860 43,485 3,375
201 LEH2HH| 15,200 15,025 175
01 At 2t2ibl 15,200 15,025 175
OBNRY Yut4H) 9,600
O&AN2 =&l 7,000 «32H %254 5,600
202 Oddl 27,400 24,200 3,200
01 WY 27,400 24,200 3,200
OZ2M28Z 0l 20,0003 *32H 10 6,400
O=L0HI 20,0002 x7H 150 21,000
203 LR =& 4,260 4,260 0
04 BEAN2IHRFLH 4,260 4,260 0
ORA2Z 355,000& 128 4,260
J23Hl(R=ed) 24,000 24,000 0
202 O 24,000 24,000 0
01 WAL 24,000 24,000 0
O=U0dd 20,0003 x4 H *150 12,000
OMgIl HAXE 2&IIAL K]
10,0003 x8H x 150 12,000
J23(8E X)) 12,000 15,000 A3,000
202 044 12,000 15,000 A3,000
01 WY 12,000 15,000 A 3,000
O=U0id 20,0003 x4 H *150 12,000
Jl2Zdl(&4+=cg) 13,500 13,500 0
202 Oddl 13,500 13,500 0
01 WY 13,500 13,500 0
o201
(20,0002 x5 x1502! )-(10,000& « 1 150 ) 13,500
Jl2ddl(ct==8) 10,500 10,500 0
202 O4dl 10,500 10,500 0
01 WA YI 10,500 10,500 0
ORU01|
(20,000 x4 1502 )-(10,000& « 1 150 ) 10,500
HREes(8d=51) 10,730,690 8,813,936 1,916,754
LHEHCHXIE 10,730,690 8,813,936 1,916,754
S=ESEIH dE3 4,802,183 4,916,007 A 113,824
701 JIEIRI AN E= 4,802,183 4,916,007 A 113,824
01 JIEtsl AN ES 4,802,183 4,916,007 A113,824
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Oax=E SE3H &2 4,802,183
BIEIIZANLEEESH dE2 5,928,507 3,897,929 2,030,578
701 JIEISIHAE =2 5,928,507 3,897,929 2,030,578
5,928,507 3,897,929 2,030,578

O=BIIZANEEE3H HES 5,928,507




